Materials List For Folding Board

24" 1X2

1/2 Sheet 1/4" plywood (nice)

2- 2x4x5" blocks

2- 1x2x6" blocks

1- 5x5x1/4" plywood

2- 1 1/2x8" piano hinges (replace screws with 1"x #4 wood
screws)

1- 1/2" conduit (39 1/2")

1- 1/2" conduit (36 1/2")

2- 1/2" conduit (34")

3- rubber boots for conduit legs

1- 1x1x3/16x4" Aluminum U

1- 1x1x3/16x1" Aluminum U

2- 1/2" rigid couplings

2- 1/2" compression connectors

1- 1/4x3" eye bolt with wing nut

1- 2 1/2" latching hasp

1- 3/8" hitch pin clip

1- 16"x5/8" nylon rope handle

5- #10-24 T nuts

4- #10-24x1 1/4"machine screw with lock nuts
2- #10-24x1" machine screw with lock nuts
1- #10-24x3/4" machine screw

2- 1" diameter washers

2- 1 5/8" self tap screws

1- tube thread-locker (red)

2- 6" jack chain

1- Key ring

1- tube construction adhesive

1- tube wood glue



FOLDING SKETCH BOARD

E 3
e =

) u:_ 24‘” ‘ ' 24” —- "
1Y 22 V4" ‘ D 224" ﬁ"‘
| — | /4" ”‘
™ A i
T Llaygrf i, le— 555 V4" PLY
DADC (Z)PME% I L _V4'"é-oLE
oo | gl
2) 40'% | CER'
ey — || D (%N)_EEQ D'

Y

B

dl|H % KEEP WIRE |
= _|& _¢CA.TCEH %35-' - "i ' S— S
e 1 3c £ 2YE BOLT i

| = % 2" weoep W/ WINGNOT
© Ty

3/8/(TYF) e
I'x 2 x& WOOD

o T

=/
‘Il ) '_-..:._ d

\
1t "
\

c..
| - &(2 #EKV'T%\LT\'
’ D &C

/ | H REW
25/4: (TYP.) 4.l/all 4|/ i\ % L-EG \bl

40’

! o>

f LEG 'R’ \\

REAR ELEVATION

SHEET 1



AN TRY
5 | %2
e C} _l[_-
(I 3 Va'PLY
m\ =M oo 4 ve E "
J | CATCH é 4
1 o4 v \
1] p 8 SLREW
Al - =
9 g TN 1
4 ™. ™~ ol
I 4 FPLY = |x2 WOooD
i
‘fg VIEW A-A SECTION B-B
B!
n 4 O.D. ELECT.
V4" Py c/ONDutT w/ VERT
" I\ 1] SAW CUT
2%4'<5 (2)REQ'D,
v 124" WooD Ny \
= - SCREW
o
|l)<2. l_l“?(zu
£ ' & HOLE ¢ L
FIFE SLEEVE " 5% Va' PLY —| 3/"’;543
S%TlONE:‘C el s ' ALUM: U sl ???Nu;
FLAC \ /16" P %'
', o7 3/411%8‘; ELECT L R
- 1] 1] co | Hh
< o 4 4' "
; Ti[. |'x 2 3 ! (LEE‘.' A) %4;/4?&‘\’
| . G | /4
L it 1 Téxﬁﬂmw
NUT

‘ N E &Py ésvm.Aaow
BLACK. LIGHT DA DO SECTION D-D

(TYC 2 PLACE)
VIEW EB-E

SHEET 2



R
k _;|| 53/6 ‘& LT _
) (SEE ECT. D-D) i
e s
3 L C
N o
‘N § ' '5/6:- ¢6x [ BoLT 8 | I?g ‘%
X ‘ :1 W/STorP NVT \\ Q
g Q | "s = 2 | ﬁ O
SN § EM o
3 [Hi z 2
NN e <t alll &4 H
i & gl
= ! It U |
* T {F
l S N EET
ERY RQ"Q 9 s ;1:
= | Y Nl
Xl .g « |
T 1
X |
-——-' l — \ ]
X N DETAIL LEG B
i || (2) REQ'D.
' h __—*_
CUBRER FeOoT
DETAIL LEG'A
(1) REQD.
SHEET 3

OAC * PO Box D * Nazareth » PA « 18064 / PHONE: (610) 746.0508 / FAX (888) 886-5661
On The Web: www.oacusa.org / Email: usa@oaci.org



Folding Board Construction Details

See view E-E on sheet 2 See section C-C on sheet 2 & rear
elevation on sheet 1.

Leg B 7% angle

See detail leg B on sheet 3

OPTION 2 Leg Connection Details

See detall “Leg B” length on sheet 3 of the attached blueprint.
Same length, no saw cut. Assemble 1/2” EMT compression
fitting to conduit. Drill 1" hole 1 5/8” deep at same location for
pipe sleeve at 7% angle. Insert 1/2” RGD conduit coupling.



See section D-D on sheet 2

See detail leg A on sheet 3 See section B-B




See rear elevation on sheet 1




See view A-A on sheet 2

See section B-B on sheet 2
Note: When attaching this bracket to the board, be sure and use strong lock-tite on the bolt threads.

OAC * PO Box D * Nazareth » PA » 18064 / PHONE: (610) 746.0508 / FAX (888) 886-5661
On The Web: www.oacusa.org / Email: usa@oaci.org



